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QUESTION 1

Refer to the exhibit. 

Which option describes the capability that the FCoE setting allows? 

A. configures the FEX to send FCoE traffic only to this switch 

B. allows mapped VLAN-VSAN traffic to reach the FEX 

C. configures FEX for A-B SAN capabilities 

D. allows interface Ethernet 101/1/1 to exchange DCBX information 

Correct Answer: A 

 

QUESTION 2

A load balancer can be defined as a network device that makes forwarding decisions that are based on parameters in
Layers 4 to 7 of the OSI model. Which three parameters are involved in forwarding decisions? (Choose three.) 

A. TCP Destination Port 

B. DNS Record 

C. HTTP Session Cookie 

D. SNMP GET 

E. String recognized in the connection data 

F. Uniform Resource Locater 

Correct Answer: ACE 

 

QUESTION 3

Refer to the exhibit. 
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Which three statements about the exhibit are true? (Choose three.) 

A. The differentiating characteristic of the Cisco Nexus 1000V Series is that it does not run Spanning Tree Protocol. This
characteristic may seem to be a significant departure from other Ethernet switches, which might potentially cause
catastrophic network loops. However, in reality, the Cisco Nexus 1000V Series implements a simple and effective loop-
prevention strategy that does not require Spanning Tree Protocol. 

B. Because the Cisco Nexus 1000V Series does not participate in Spanning Tree Protocol, it does not respond to BPDU
packets, nor does it generate them. BPDU packets that are received by Cisco Nexus 1000V Series Switches are
dropped. 

C. The Cisco Nexus 1000V Series uses a simple technique to prevent loops. Like a physical Ethernet switch, the Cisco
Nexus 1000V Series Switch performs source and destination MAC address lookups to make forwarding decisions. The
VEM applies loop- prevention logic to every incoming packet on Ethernet interfaces. 

D. The Cisco Nexus 1000V Series uses a simple technique to prevent loops. Like any logical Ethernet switch, the Cisco
Nexus 1000V Series Switch performs source and destination MAC address lookups to make forwarding decisions. The
VEM applies loop- prevention logic to every incoming packet on Ethernet interfaces. 

E. Because the Cisco Nexus 1000V Series participates in Spanning Tree Protocol, it responds to BPDU packets, and it
generate them. BPDU packets that are received by Cisco Nexus 1000V Series Switches are dropped. 

Correct Answer: ABC 

 

QUESTION 4

Drag and drop feature on the left onto the appropriate business benefits on the right. 

Select and Place: 
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Correct Answer: 

 

QUESTION 5

In a Cisco Unified Computing System, where are SAN port channels connected to? 

A. Only to Cisco Fibre Channel switches 

B. Only to Cisco Fibre Channel switches in NPIV mode 

C. To any Fibre Channel switch 

D. Directly to storage arrays 

E. Only to Nexus Switches 

Correct Answer: A 
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